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DILBR| 0BT |0O35RA| OB |O3HRA| 0B (038K o DILBR | OFBE |O35RA| OBE [O3LBX| 0B |0O3LEA| o
EN0) DHD DHLO DHO DHO DHD DHD DHD
(kN/n?) (m) (kN/n?) (m) (kN/n?) (m) (kN/m) (m) (kN/m) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 92.8 1.0 - = 8.8 1.8 ~
2 ~ 3 - - 92.8 1.0 - - 10.4 2.1 ~
3 ~ 4 - - 98.9 1.0 - - 11.0 2.2 ~
4 ~ 5 - = 100.0 1.0 - = 11.7 2.3 ~
5 ~ 6 120.8 1.0 100.0 1.0 = - 12.6 25 ~
6 ~ 7 120.8 1.0 100.0 1.0 - - 12.6 25 ~
7 ~ 8 - - 100.0 1.0 - - 12.5 2.5 ~
8 ~ 9 - - 97.0 1.0 = - 12.5 2.5 ~
9 ~ 10 - - 86.3 1.0 - - 10.0 2.0 ~
10 ~ 11 - - 99.6 1.0 - - 12.9 2.6 ~
11 ~ 12 - - 99.6 1.0 - - 13.6 2.7 ~
12 ~ 13 - - 94.0 1.0 - = 13.6 2.7 ~
13 ~ 14 - - 94.0 1.0 - - 13.3 2.7 ~
14 ~ 15 - - 88.7 1.0 - - 9.9 2.0 ~
15 ~ 16 = - 86.6 1.0 - - 9.5 1.9 ~
16 ~ 17 - - 80.8 1.0 - - 9.5 1.9 ~
17 ~ 18 - - 79.1 1.0 = - 9.5 1.9 ~
19 ~ 20 - - 80.4 1.0 - - 8.7 1.8 ~
20 ~ 21 - - 86.3 1.0 - - 8.7 1.8 ~
21 ~ 22 - - 86.3 1.0 - - 9.2 1.9 ~
22 ~ 23 = - 76.4 1.0 = - 9.2 1.9 ~
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